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PAPER 1 - FOUNDATION TIER

PAPER 1 (Non calculator) Marks FINAL MARK SCHEME
Foundation Tier Comments
1. (a) (i) (£) 2,025,310 Bl
(ii) twenty three thousand and eight (litres) Bl B0 for twenty three thousand zero hundreds and eight (litres)
(b) (i) 38 and32 Bl
(ii) 46 Bl Accept embedded answers, e.g.37 + 46 = §3.
(iii) 42 Bl
(c) 119 B1 BO for—119
(d) 81 Bl | Accept 9* OR 9x9
(e) 1, 2, 4,7, 14, 28 B2 BI1 for at least 4 correct factors with at most 1 incorrect
number. Ignore repeats.
9
2. (a) 7 thousand(s) OR 7000 OR thousand(s) BI
(b) 53 OR 59 OR 151, 251 etc B1
(c) 14 B1
(d) 3/8 B2 B1 for 6/16. Mark their final answer for the B2
(e) (Megan spends) £7.20 on pens B1 C.AO.
(Number of pens) = 720/60 M1 For 'their £7.20760. Those who use equal additions of
B0,M0,AQ for £8/60. 60(p) must either get to £7.20 OR
Unsupported 12 gets if there are arithmetical error(s)
the 3 marks. must show that they have added
=12 (pens) Al ET. as far as they can.
Look for QWC | QWC2 Presents relevant material in a coherent and logical
e spelling 2 manner, using acceptable mathematical form, and with few
e clarity of text explanations if any errors in spelling, punctuation and grammar.
¢ the use of notation (watch for the use of ‘=", £, p)
QWC2: Candidates will be expected to QWCI Presents relevant material in a coherent and logical
s  present work clearly, with words explaining manner but with some errors in use of mathematical form,
process or steps spelling, punctuation or grammar
AND OR
o make few if any mistakes in mathematical form, evident weaknesses in organisation of material but using
spelling, punctuation and grammar and include acceptable mathematical form, with few if any errors in
units in their final answer spelling, punctuation and grammar,
QWC1: Candidates will be expected to ) ) o .
o present work clearly, with words explaining QWCO_ Evident weakness;s in organisation of materla_l, and
process or steps errors in use of mathematical form, spelling, punctuation or
OR grammar
e make few if any mistakes in mathematical form,
spelling, punctuation and grammar and include
units in their final answer 10
3. (a) Cricket (C) 10, Football (F) 6, Hockey (H) 11 B2 May be inferred from their bar chart.
Tennis (T) 8, B1 for any two/three correct frequencies
If frequencies score 0, then give B1 for all 4 correct tallies.
Both axes labelled, e.g. frequency along one axis and B2 Bl if'no scale, but allow one square to represent 1
Tennis (T), Football (F), Cricket (C), Hockey (H) OR BT if not labelled as “frequency’ or similar.
along other axis - anywhere within the base (inc.) of the If frequency scale starts with 1 at the top of the first square
corresponding bar. the starting at 0 will be implied for this axis.
AND uniform scale for the frequency axis starting at 0 and Accept 'Number of pupils' but NOT 'pupils’
labelled ‘frequency’ OR ‘number of pupils’.
Four bars at correct heights (bars must be of B2 E.T. their frequencies throughout.
equal width) BI for any 2 or 3 correct bars on F.T.
If no frequencies given in their working, penalise -1 for each
incorrect frequency on their bars up to -4 (First and third
B2s)
(b) Hockey (H) Bl Accept 11 and Hockey (H), but B0 for 11 only
F.T. their figures.
(c) 10/35 LS.W. OR 2/7 B2 B1 for the 10 (in a fraction < 1) OR B1 for a denominator of
35(in a fraction < 1). F.T. 'their 10' but must be 35.
9 Penalise -1 for incorrect notation, e.g. ‘10 out of 35°, “10:35°

® WJEC CBAC Ltd.




